Staff Selection Commission
(Government Of India)

QID : 601 - In the following question, select the related word pair from the given alternatives.

1) Bus : Vehicle

&9 : dlgel

2) Car : Road

SN : s

3) Ship : Sea SIgToT : A

4) Train : Rail JS@MSY : gedr

Correct Answer: Bus : Vehicle 8 :
argeT

Candidate Answer: Bus : Vehicle 578 :
argeT

QID : 602 - In the following question, select the related word from the given alternatives.

Big : Small : : Solid : ?

AATGT  AGUITTH TH A S 4T A H F AT

q3T: BleT: : 3 : ?

Options:

1) Metal

g

2) Liquid

el

3) Smoke

CE

4) Cold

&l

Correct Answer: Liquid
el

Candidate Answer: Liquid

el
QID : 603 - In the following question, select the related word from the given alternatives.

Calculator : Calculations : : Scale : ?

AAATT  HGUIATTH TH Y e U UG H AT

%aq\ﬁa:m::#a:?



Options: 1)

Inches &4

2) Centi
meters {C HIEX
3) Meas
ure HIYeAT

4) Steel
col

Correct Answer: Measure HTYeT
Candidate Answer: Measure
HTYAT

QID : 604 - In the following question, select the related letters from the given alternatives.

MUFT : PXIW : : GONE : ?
AATGT  HSUIACTH TH Y T U HIH AV

MUFT : PXIW : : GONE : ?

Options:
1) HMRL

2) JSPA

3) JRQH

4) HaRF

Correct Answer: JRQH

Candidate Answer: [ NOT ANSWERED ]
QID : 605 - In the following question, select the related letters from the given alternatives.

PINK:TMRO ::SOLD : ?
ATTTA  HEUIATTH TH A TS & JTH AT

PINK:TMRO ::SOLD : ?

Options:
1) HQTX

2) WSPH

3) HAQV

4) AQBH

Correct Answer: WSPH

Candidate Answer: [ NOT ANSWERED ]

QID : 606 - In the following question, select the related letters from the given alternatives.
SW:VA::LT:?

AATGT  HEUIACGh TH Y T & TR AV

SW:VA::ILT:?



Options:
1) NY

2) LA

3) OX

4) oL

Correct Answer: OX

Candidate Answer: [ NOT ANSWERED ]

QID : 607 - In the following question, select the related number pair from the given alternatives.

Options:
1) 16: 259

2) 13:171

3) 14:199

4) 14 :195

Correct Answer: 13 : 171

Candidate Answer: [ NOT ANSWERED ]

QID : 608 - In the following question, select the related number from the given alternatives.
42:105::38:?

AATTS ACUIACIH IH Y T I § AT H F AT

42:105::38:?

Options:
1) 111

2) 135

3) 95

4) 83

Correct Answer: 95

Candidate Answer: [ NOT ANSWERED ]

QID : 609 - In the following question, select the related number from the given alternatives.
24:39::49:?

ATTGT  ASUIATTH T H Y S Ol & ITH AT

24:39::49:?

Options:
1) 68



2) 64
3) 69
4) 79
Correct Answer: 64

Candidate Answer: 64

QID : 610 - In the following question, select the odd word from the given alternatives.

Jd T Wd HNWWWHQW?TE?%WI
Options:

1) L
iver dsh
2) I
ntestine

3T

3) (0]
rgan 3iT

4) L
ungs % g

Correct Answer: Organ 33T

Candidate Answer: Organ 3{dT

QID : 611 - In the following question, select the odd word from the given alternatives.

ATATTT  HGUIT Goh TH J q9H A& I 0]
Options:

1) BI

ack sprell

2) Y

ellow drerr

3) R

ainbow's"

Rl

4) Pi

nk aTef <1l

Correct Answer: Rainbow 3’

oI

)

Candidate Answer: Black ohTelT

QID : 612 - In the following question, select the odd word from the given alternatives.

AATTT  HGUIT goh TH Y q9H A& I =T
Options: 1)

Arteries

BEED)

2) \Y
eins oTd
3) H
and 8T



4) B

onesg

g7

Correct Answer: Hand 81T

Candidate Answer: Arteries &1H
aar

QID : 613 - In the following question, select the odd letters from the given alternatives.

TTTTT HEU T Foh I H I q9H H TH AV

Options:

1) RLF

2) MGA

3) EYR

4) HBV

Correct Answer: EYR

Candidate Answer: [ NOT ANSWERED ]

QID : 614 - In the following question, select the odd letters from the given alternatives.

AT HEUIAVTH TH Y VA JIH AT

Options:

1) IR

2) KP

3) GT 4) OV

Correct Answer: OV
Candidate Answer: OV

QID : 615 - In the following question, select the odd letters from the given alternatives.

TTTTT HEUITTh I H G a9H I TH AT

Options:

1) XTQMJ

2) FBYUR

3) GCzZVS

4) TPMIE

Correct Answer: TPMIE

Candidate Answer: [ NOT ANSWERED ]

QID : 616 - In the following question, select the odd number from the given alternatives.

AATGT  AEUIATTh TH A VH G ATH AT

Options:

1)4-21

2) 7-54

3) 6-41

4) 3-16

Correct Answer: 3 - 16

Candidate Answer: [ NOT ANSWERED ]

QID : 617 - In the following question, select the odd number pair from the given alternatives.

AATGT  HSUIVTHIH A ATHE I A H AT

Options:

1) 11-17

2) 23-31

3) 43-59

4) 41-47

Correct Answer: 43 —59

Candidate Answer: [ NOT ANSWERED ]



QID : 618 - In the following question, select the odd number pair from the given alternatives.

AATGT  HEUICTH IH A IGH G I H H AT
Options:

1) 12-156

2) 13-182

3) 14-210

4) 15-230

Correct Answer: 15 -230

Candidate Answer: [ NOT ANSWERED ]

QID : 619 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shocking
2. Shiver
3. Shelter
4. Shorten
5. Shudder

TS o Tl A S T A SN H 3T dTel H & AR o |

1. Shocking
2. Shiver
3. Shelter
4. Shorten
5. Shudder

Options:
1) 23145

2) 32145

3) 14523

4) 41523

Correct Answer: 32145

Candidate Answer: [ NOT ANSWERED ]

QID : 620 - According to dictionary, which of the following word will come at LAST position?
. Operation

. Orderly

. Openly

. Opulent
. Oral

s WN R

ST I % 3TTAR, o o1 o Wl /A il AT 2 & 3 q UleT R 3TIaMT?

. Operation
. Orderly

. Openly

. Opulent

. Oral

u s WN R

Options:
1) Oral

2) Orderly

3) Opulent

4) Operation



Correct Answer: Orderly
Candidate Answer: [ NOT ANSWERED ]

QID : 621 - From the given alternatives, according to dictionary, which word will come at THIRD position?

ST AT T T 7 W, 2 G & AR, FleT 7 27 & AAL ATeT T IR

Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic

Candidate Answer: Pathetic

QID : 622 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AGM, FLR, KQW, PVB, ?
U H HEATIATY, STHA A TH UG AL | SUIN AR T H AT FG aHh T g
T, S 3] H BT |

AGM, FLR, KQW, PVB, ?

Options:
1) UAG

2) VLC
3) CGN
4) PNO
Correct Answer: UAG

Candidate Answer: UAG

QID : 623 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FROM, CNLI, ZJIE, WFFA, ?
Teh 3] H ST IRATE, STHA & Ueh Y& o] I ¢ ST I eh T 7 { dg el aeh T G AT, Sl 37 H hT QA |

FROM, CNLI, ZJIE, WFFA, ?

Options:
1) ACNG

2) TCCX

3) TBCW

4) FRIP

Correct Answer: TBCW

Candidate Answer: [ NOT ANSWERED ]



QID : 624 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TRO, PNK, LIG, ?, DBY
U H HEATIATE, STHA A Th UG J AL | SUIN AR T H AT HGI ah T g
T, S 377 7 HT R

TRO, PNK, LJG, ?, DBY

Options:
1) FBC

2) FNB

3) FRN

4) HFC

Correct Answer: HFC

Candidate Answer: [ NOT ANSWERED ]

QID : 625 - In the following question, select the missing number from the given series.
11, 16, 21, 13, 19, 25, 15, 22, 29, ?, 25

AATGT  HEUIATTH I H Y d 37 o7 F 50|

11, 16, 21, 13, 19, 25, 15, 22, 29, ?, 25

Options:
1) 18

2) 17

3) 19

4) 21

Correct Answer: 17

Candidate Answer: [ NOT ANSWERED ]

QID : 626 - In the following question, select the missing number from the given series.

2112, 2328, 2671, 3183, ?, 4912
ATIGT  HSUATTH IH Y d 3 oI % ST

2112, 2328, 2671, 3183, ?, 4912
Options:

1) 3826

2) 3742

3) 3912

4) 3992

Correct Answer: 3912

Candidate Answer: [ NOT ANSWERED ]

QID : 627 - In the following question, select the missing number from the given series.

21, 22,34.5,71, 180, 543, ?



ATATTT  HEUIAVTH IH Y o 37 ol & 57|

21, 22, 34.5,71, 180, 543, ?

Options:
1) 1864

2) 2234

3) 2336

4) 1904

Correct Answer: 1904

Candidate Answer: [ NOT ANSWERED ]

QID : 628 - M is 2 years older than P. L is 2 years older than O. O's age is the average of the ages of Land N, P's age is the average of the ages of L and M and L's age is the average of
P and O. Who is the youngest?

M, P2 AT TSI L, O W 2 AT ISTE| O 37T L 3R N o Y 1 3T &, 3R P o 3 L 31T M o 377 7 3T € 31 L 31 P 3TR 0 6 377 7 3T § | Feordh DieT ohied &2

Options:

1)L

2) M

3)N

4) O

Correct Answer: N

Candidate Answer: [ NOT ANSWERED ]

QID : 629 - X said to Y that your mother's father-in-law's wife is mother-in-law of my father. How are X and Y related?

XAYAHEIHIERTATH AR H I A M TAH AT | X IR Y Th T A & A el Tl 62

Options:
1) X is sister's husband of Y

X,YHTGARITIE

2) Xis child of Y's father's sister

X,YH U H g T A

3) Y is father's brother of X

Y, XF I F ST

4) Y is sister's husband of X

Y, XFTGARITIE

Correct Answer: X is child of Y's father's sister
X,Y R H g AT AT g

Candidate Answer: [ NOT ANSWERED ]

QID : 630 - From the given alternative words select the word which cannot be formed using the letters of the given word.

GEOGRAPHIC
AATGATH THA TG A AT ST ST IV A S oh 37T I LT Hleh 778
SATIT ST HehdT:

GEOGRAPHIC

Options:
1) cheap

2) rogue

3) price



4) graph
Correct Answer: rogue

Candidate Answer: rogue

QID : 631 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

T & BANQUET I IS H ZYLOSCR TG ST & A NEW 1 IS 7 & § ol STTam?

Options:
1) MVD

2) MDV

3) LcU

4) OFX

Correct Answer: LCU

Candidate Answer: [ NOT ANSWERED ]

QID : 632 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don’t block the path' and 4763 means 'chock a block full'. Find the code for
'the'.

AT T IS HINTH 9124 EFTS-T?‘T%L 'run around the block’, 2548 EHT}T%T% 'don’t block the path' 3 4763 ?=FT3-T%T%L 'chock a block full'| 'the' 3 oTT I8 &I HT|

Options:
1)1

2)9

3)2

4) 4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 633 - In a certain code language, '+ represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

90x10+25-5+50="?
FUT TRSHTTH '+, - PG AT IATE, -, X P g AT FATR, 'x', '+ PG AT IATE 3R '+, + P g AT IATg | T
a@d FTIT T F?

90 x 10 + 25 - 5 + 50 = ? Options:

1) 81

2) 84

3) 100

4) 48

Correct Answer: 84

Candidate Answer: [ NOT ANSWERED ]

QID:634-If11@7=2,18@0=9and 22 @ 20 =1, then find the value of 16 @ 10 =?

TE11@7=2,18@0=93R22@20=1,dr 16 @ 10 = ? FT HAA ::Id FI? Options:
1)6

2) 160

3) 26

4)3

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]



QID : 635 - If A * B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D % E + F mean?
TZTA*BHRIITEHA, BHTATG, A+BHTHITHA, BHTEAS ANTTA%BHTIHAETHA, BHFTAEATC*D%E + FHI AT I E?

Options:
1) Cis F's husband
CFHRIITE

2) Cis F's wife's brother
CFRTAMFTSE

3) Cis father of F

C FHIATE

4) Cis F's sister's husband
CFHRIEARITE

Correct Answer: C is F's sister's husband
CFRTgARITE

Candidate Answer: [ NOT ANSWERED ]

QID : 636 -

Select the missing number from the given responses

e g farepeat % & w e g

8 10 2

17 19 10

Options:
1)1

2)9

Correct Answer: 9

Candidate Answer: 9

QID : 637 - Which of the following terms follows the trend of the given list?

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
A T WA H Y HleT AT UE & I I ok 7 b AR 82

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB,ABABCABAB, _ . Options:
1) ABABABACB

2) ABABABCAB 3) ABABACBAB 4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: [ NOT ANSWERED ]



QID : 638 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and sails 17 miles.
Where is it with respect to the port from where it started?

T STETST GIC § TelalT SR T & 3N I & 3] 43 Hiel TJeldr g | S A6 & oTE AR
75T g 3R 17 AT TAAT G| R IE T & 3R 73 25 HieT TeTalT § 3R I &7 gt R HFHT 17 Fiel ToldlT § | 5T AT § S SISl o TofalT 3T HAT AT 3TH 31
I STETST el T E?

Options:

1) 18 miles West

18HT A

2) 68 miles East

68 HieT g

3) 18 miles East

18 AT g

4) 68 miles West

68HITT H

Correct Answer: 18 miles East
18 AT g

Candidate Answer: [ NOT ANSWERED ]

QID : 639 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South, then flies 11
miles East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

AT AT TR T T T ToAAT SR A& | oA P, 15 HT T
H # 3R 35T 3R BT 3R A5 22 Aol 351 & ol 5 AT S | S AAT oA Q, 7 Hel & U1 3R 35T § IR AT
11 FIeT Y@ & 3R 33T § TUT B 31991 &7 3R 73 15 HT 3541 o A6 oS FAT & | ¥ P el | oled Q gi 87

Options:
1) 26 miles East

26 Hrel g

2) 26 miles West

26HITT H

3) 4 miles East

VIR C)

4) 4 miles West

4ASTT A

Correct Answer: 26 miles East

26 HieT g
Candidate Answer: [ NOT ANSWERED ]

QID : 640 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement Il: Some doctors are mothers

Conclusion I: All doctors are mothers
Conclusion 1l: Some mothers are officers

H Y FUT I I § STTh 3T T T Y | 3T 1| TR IR | IR ATAATE H Al AT T T § e T8 AT IT: (Id T T T T AT BT § | 3T FAUTH AT § & ST AT
TFTAVPA-TY/RTAT T T Y FUF ORT EY AR ST Thell &/TFA §, TS FIS &Y

et |: 0 3 FHE AU E FUTN: TS S CHANE

AFY LT ST ca AT
FY: T AT AT §

Options:
1) Only conclusion | follows

FITT Y| TETE



2) Only conclusion Il follows
F I AR | TETE
3) Both conclusions | and Il follow

ATTA R IR NTEE

4) Neither conclusion | nor conclusion Il follows
AT AT HY | FEIE ATET T Y Il
Correct Answer: Only conclusion Il follows &

TAAFTI TG
Candidate Answer: [ NOT ANSWERED ]

QID : 641 - In the question three statements are given, followed by three conclusions, I, Il and IlI. You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert
Statement Ill: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion IllI: All jungle is sand

AN FYUT A T § TP I AT A FT, 11 3 111 5ThTel I § | 3T AT & & dleT HUT T T & TR Tg AT I <Td T T A T NT 8T § | 3R AU Tl & & &T T
AFTAAPA-AYRT-TT T T Y FUF ORT HE TRl ol Hhell &/TFA §, TS HS T

FYTI: T A ATSITAETFATI: TNITH  UT & FYA llI: TS U3 ST o8

3

AFTLFSISH U oTg
AT PSITISATE
ARY II: FIT SFTAITE

Options:
1) Only conclusion | follows

FITARY | FEI &
2) Only conclusion Il follows
FIT TP TETE

3) Only conclusions | and Il follow

FaaTHY I NTEE
4) None of the conclusions follow T T FY |, 1| 3T 11 T B &

Correct Answer: Only conclusions | and Il follow F

AT Y | 3T TEE

Candidate Answer: [ NOT ANSWERED ]

QlD : 642 -



Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

ferrferRad TR aMTpfar § & I |1 o oy 1T o
3TTEfer F el O A 1T 8T I FehelT?

Options:

=

v
o

&

L]

0

@

Y

&

o

Correct Answer:



P

Candidate Answer: [ NOT ANSWERED ]

QID : 643 -
Which of the following answer figure patterns
can be combined to make the question figure?
frr=ferRae ST ey & & @i & et @
TSR T T T3 SATHFT BT TR ST el &2

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QlD: 644 -



In the following figure, square represents Artists, triangle
represents Military officers, circle represents collectors and
rectangle represents Fathers. Which set of letters
represents collectors who are either military officers or
fathers?

fPraferiReer formr & o, areeRt Y el e &, v fferd
et foreredY Y srafRfer v 81 J1&RT @1 B | WY I
Forged B wefia dear & S ar ar Pferd sfifthad & ar far

&

A

B /A

c K ’7;& D\
E

Options:
1) H
2)B
3)G
4)F

Correct Answer: F

Candidate Answer: F

QID : 645 -

Which of the following Venn diagrams represents the
relationship between Women, Mothers and Teachers ?

fer=forRad & I B9 1 9 for Afearan, Aial afi fareret
& i ey SATAT 82

Options:

@

2)



3)

OO

@

Correct Answer:

@

Candidate Answer: [ NOT ANSWERED ]



Which answer figure will complete the pattern in the
question figure?

frr=rferRae & & -t ITR S1repfcr war e & ufered

s
P

Options:
1)

2)

3)

T 12

4)

g\

Correct Answer:

é\

Candidate Answer:



~
LY

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<1 Rl TR repfodl F A S iy Y gAY R my
aTTepfr fAfee &1

Options:
1)

/\
AN
/

2)

3)

/[ AN\
7.5
VAR
£ X

4)

Correct Answer:



£ IXN
7. X
[\ \
i\

Candidate Answer: [ NOT ANSWERED ]

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T 3TpTr) 7 fERETT SFTAR BT T HIgebR IHH
B R TAT FieT & 18 T8 by IR AP ST
ferarg <m?

I
I
S
I
I
I
I
I
3
1
I
I
I
]
L

Options:
1)

2)

3)

4)




Correct Answer:

oVvYo
O b O
b 004
o O o

O A0

Candidate Answer: [ NOT ANSWERED ]

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

IfE Uep T T MN T IR I@T 1T a1 & Tft IR

ST ICRAT H & I-3Y STTBFT T STPIeT T Hel
ufrfesy g2

F O

Options:

1)

2)

3)

4)




V¥
h ©

Correct Answer:

R
P AN

Candidate Answer: [ NOT ANSWERED ]

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-I|
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'H' can be represented by
21, 43 etc and 'R’ can be represented by 96, 87 etc. Similarly, you have to
identify the set for the word 'POEM'.

U 9165 et U TEAT-THE FRT SATAT TR &, ST f faenedt & < sl oo
v 21 farepeat ¥ forg T wive-wgE areri & & ot grer qwfo o &, St s
forg g < ameat ¥ &1 ategE-| & T oY fth B e 0 ¥ 4 31K IegE-I A 5
W 9 B1 57 SR W U 38R DI Ugel IS Ufth 3R aTe 3 W= TN SR &1ir
T G 81 IEERT P foQ “H' T 21, 43 1T GRT S20FAT S el & 7 'R Y
96, 87 NS gRT Serfar o warar 21 5 9% F sud! ¥ A R e ‘POEM' &
ferg g @1 gearET &

Matrix | S8 | Matrix 1| HTEgE-l
0 1 2 3 a | 5 6 7 8 9

0 A A L A B || 5 Q u Y N z
1 C A F ] C [5 N R v 0 z
2 ] H F 8 [3 7 P N Q w q
3 F ] A M L 8 X N R v v
a | B B H E ) X R v T 0

Options:

1) 76,69,01, 33

2) 56,88,23,41

3) 89,56,44,02

4) 75,68,44,33

Correct Answer: 75,68,44,33
Candidate Answer: [ NOT ANSWERED ]

QID : 651 - Depreciation of fixed assets is an example of

YA IEY AFHTOAEGROTE: |

Options:

1) deferred revenue
expenditure T TT T T
2) capital

expenditure JaeTa I



3) capital gain

tiGﬁ?m’ of'd

4) revenue

expenditure T 9 I

Correct Answer: capital expenditure ‘\I:\Trﬁ?TH
T

Candidate Answer: capital gain C\!:\Gﬂ?lﬂ'
of'd

QID : 652 - Which one of the following is not a feature of monopolistic competition?

T T T A Y Flef-AT T JATAT TH GHR T T H o6 67

Options:
1) Large number of buyers and sellers in the market

STIR A TIGER AR S9siard & a8 g ar
2) Differentiated products constitute the market g&%
& 391G ¥ 19N SeiclT &
3) Product in the market is homogeneous ST A 3
9TE FHASTAT Bl &
4) Selling costs are used for sale promotion IITT
% U T ST T AT HAT ST &
Correct Answer: Product in the market is homogeneous SToTR H

3 UG AT gl &
Candidate Answer: [ NOT ANSWERED ]



QID : 653 - What is the maximum loan amount permissible under the MUDRA Yojana?

o AVSTAT 3 AT H Tl 3] 37 HOT QAT Felel) &2
Options:

1) Rs. 50,000

50,000 9

2) Rs. 1 lakh

1@ 9

3) Rs. 5 lakh

5 OTE 9

4) Rs. 10 lakh

10 TG 9

Correct Answer: Rs. 10 lakh

10 TG 9

Candidate Answer: [ NOT ANSWERED ]

QID : 654 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?
T % RT T T G2 & AN G2 0T 3 HTAR TR Tt 7 it Soft F T &1 82

Options:

1) Upper-lower income
country 3 T-aT =T 31T GTelT &2

2) Lower-middle income
country  F-H IH 3T aTelT &2T
3) Middle-middle income
country F I H T 3T ATl &2T
4) Lower-upper income
country  #-3 T 3T ITIT &2

Correct Answer: Lower-middle income country o o1-

H IH 3T T &2
Candidate Answer: [ NOT ANSWERED ]

QID : 655 - As per census 2011, which state had the lowest sex ratio?

2011 % SIAITOTAT & 3TTAR, 8 T T & oI TH Ha UT?

Options:

1) Pu
njab Eic)

2) Ha
ryana g {IToTT
3) Ut
tar Pradesh 3
T3

4) Bi
har gi¥
Correct Answer: Haryana @
o

Candidate Answer: [ NOT ANSWERED ]

QID : 656 - Pluralist Theory of Sovereignty emphasizes the importance of which of the followings?

SIh § oaG a T F o of of ol H ¥ R a9l GAT STl 67
Options:

1) Assoc

iation TEr

2) Mona

rch ITSTT



3) State

aTT
4) Gove
rnment {hR

Correct Answer: Association T
Candidate Answer: [ NOT ANSWERED ]

QID : 657 - In which of the following countries the system of judicial review was originated?

AATTA AT FA AT AT IR TAT UM A3 T 3T AT?
) France

oTod

2) G

ermany

STHAT

3) u

SAUHT

a) B

ritain T

Correct Answer: USA JUHT
Candidate Answer: [ NOT ANSWERED ]

QID : 658 - Under which article of the Indian Constitution is the District Planning Commission constituted?

AR H TT & Tl 37e] B oh AT SToll rsToll & H o T ST BIell &2

Options: 1) Article
243 7D

3] D€ 243 20
2) Article 244 ZD
3] DG 244 2D

3) Article 242 ZD
3 B 242 2D

4) Article 243 ZE
3B 243 2E

Correct Answer: Article 243 ZD 3-171'
BE 2432D

Candidate Answer: [ NOT ANSWERED ]

QID : 659 - Which kind of majority is required for constitutional amendment in forming a new state?

T T T FTet 7 AT A T F oW & AT T AT ATET?
Options:

1) Simple

HTIROT

2) Two-third a’r-am’é

3) Three-fourth

aer-eterg

4) Two-third plus ratification by half of all states

&1-T6TS T 3T T T T T AT

Correct Answer: Simple HTYROT

Candidate Answer: [ NOT ANSWERED ]

QID : 660 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?
R TR HloT-AT 37 THNT TG T o glct T Y R TG o HIIATET H 9T et 3T 37 ThR & 67



Options:
1) Vice-President 399 d
2) Attorney General of India
R T I SeTlel
3) Comptroller and Auditor General
T F T FTIET T &
4) Election Commission ?:!?-l'la'}ﬂ'é_?l;
Correct Answer: Attorney General of India IRd
T 37T oI
Candidate Answer: [ NOT ANSWERED ]

QID : 661 - The term 'Stupa' is associated with which of the following event of Gautam Buddha’s life?

AT ACIMNAAY & Mol & o1 o o Tel HE T & Hef el 82

Options:

1) Death

7 3

2) First
Sermon U 3T
3) Birth T
H

4) Renunc
iation ITg-ATIT

Correct Answer: Death 3{

g Candidate
Answer: [ NOT
ANSWERED ]

QID : 662 - Who was the last ruler of the Gupta Dynasty?

3] SR T 3 TH AT il AT?
Options:

1) Puru

Gupta Il

2) Vishnu
Gupta @ U]

3) Skand
a Gupta E'FE'{’I'H

4) Kumar
Gupta ?f?:nT?;I'FT

Correct Answer: Vishnu Gupta @
urard
99

Candidate Answer: [ NOT ANSWERED ]

QID : 663 - Where was Guru Govind Singh educated and learnt Persian?

M TE A & A T g1 S IR 35 B gl A el

Options:
1) Lahor
e AR
2) Amrit

sar A



3) Patna
Ycer

4) Anan
dpur Sahib

. T E
Correct Answer: Anandpur Sahib HHZEI’T

args
Candidate Answer: [ NOT ANSWERED ]

QID : 664 - Which of the following was the precursor of Indian National Congress?

T T W F hleT R T <N T ST & 37 M T 27 242

Options:

1) Servents of
Indian Society wm&ﬁm
g 31 QST

2) Indian
Association $ SdeT Tar
HURMT

3) Indian National

Union § 5T S1¥IeTel

Il

4) Indian League §

Epoic

Correct Answer: Indian Association §
ST TH WO

Candidate Answer: Indian Association

T THT JUAT

QID : 665 - During which governor general's time was the annexation of Sindh in British State done?

F IR eIl oh TAY H TE T o T I T H HAT IAT?

Options:

1) Lord
Dalhousie <3 SeTglsf
2) Lord
Chelmsford &g
qHIS

3) Lord
Ellenborough EIE
TeleTa]y

4) Lord
Hastings s %’ g

Correct Answer: Lord Ellenborough EIE

ToTeTaRT

Candidate Answer: [ NOT ANSWERED ]

QID : 666 - What is the second most abundant element on Earth's crust?

g & o F8 S I () T 3T O T HITH T AT ATE?
) Carbon @hleleT

2) S
ilicon®

9

olehlel



3) o]

xygen 3

et

4) H

ydrogen 1%

oYoTeT

Correct Answer: Silicon &

olhlel
Candidate Answer: Oxygen 3T

e

QID : 667 - What is called a shallow stretch of river that may be crossed on feet.?

E, T Teh 3UT T AR it Ueel ITIMST & IR HAT 1T Heh, T HFgeAlaT g ?

Options:

1) F
ord IS

2) A
toll §I%

3) R
eef TeTe

a) L
agoon ?}?I?-[\

Correct Answer: Ford B3
Candidate Answer: [ NOT ANSWERED ]

QID : 668 - Which among the following is a cold-dry wind?

FAATTI AN FA W T e FR Y FAG &2

Options:

1) Hur
ricane Eﬁﬁ?ﬂ'
2) Tor
nado Ti=Tal

3) Bor
adnT

4) Cycl
one maﬁﬂ

Correct Answer: Bora ST

Candidate Answer: Tornado €isT8

QID : 669 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?
TR 31 el Al o HA ST I ¢ PR o1 o of T A A HA AT H AT g2

Options:

1) Uttara
khand 3TES

2) Uttar
Pradesh 3T &er
3) Punja
b GSTe

4) Himac
hal Pradesh

LICCEA



Correct Answer: Himachal Pradesh gHTdel

g

Candidate Answer: [ NOT ANSWERED ]

QID : 670 - Which among the following rivers does not flow from East to West?

ATTTIHY DA @A T H F 3R 78 T6h 62

Options:

1) Na
rmada oTHCT
2) Ta
pti ardr

3) Ca
uvery HIART
4) M
ahi #ATEY
Correct
Answer:
Cauvery AT

Candidate Answer: [ NOT ANSWERED ]

QID : 671 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 7GR, 2017 H T  of T A FHF T AT Toh AR D! TG TIDR o "T T JRA ISHIA" & T F TF 7 HaT?

Options:

1) Haveli Dharampur
el

2) Charminar

TIRHAART
3) Amaravati 3FRTGdT
4) Vishwa Bharati @
AT
Correct Answer: Charminar TRHAIAR

Candidate Answer: [ NOT ANSWERED ]

QID : 672 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

g‘lﬂ'
& H o 1S EIVON & 38R ARA K ARG o oTeh Hefth <1 1 el <X (STHH) o ATTaAT gl oh STTAT?
Options:
1) Andhra

Pradesh 31T 2T

2) Mahara
shtra AGRT

3) Rajasth
an a1 YleT

4) West
Bengald #H
FaTet

Correct Answer: Andhra Pradesh 31T

g

Candidate Answer: [ NOT ANSWERED ]

QID : 673 - Which of the following is a multilevel global campaign to spread awareness about importance of girl’s education?
S HY & A <TH AG T o TR H SIHT FAF TR ATCAATTT AT WTE  F AT RI-ATE?



Options:

1) Girl Rising

el TS ST

2) Most Important Part of Our Life: Girls

THAR SN T G 37 H § AT: 9T oThr

3) Save Girls: Educate Girls o ofehl
ERIKRCIRSEI R AR

4) Education of Girls T oTehT o QT T

Correct Answer: Girl Rising Tel

RIERTEL

Candidate Answer: Save Girls: Educate Girls §T

‘ol<hl ST T ofhl YaId
QID : 674 - Which country will host the Summer Olympics 2020?

< 7 3T I 2020 & ASTETeAT SleT T G HIM?
Options:

1) Q

atar ¥

2) T

okyo aar

3) R

ome JIH

4) J

akarta

STehIdT
Correct Answer: Tokyo €T

ar
Candidate Answer: Qatar X

QID : 675 - Which of the following sportsperson is not correctly matched with their respective discipline?

AT TG H Y HH GATS) HT Wl 3oToh YT A GA AT AT 87
) Jitu Rai : Shooting
S - e
2) PV. Sindhu : Badminton
3) Sakshi Malik : Boxing &T <X
4) Deepa Karmakar : Gymnastic &
T h{HATHY : ST oIT Toh
Correct Answer: Sakshi Malik : Boxing T <Y
HAF  qraa
Candidate Answer: [ NOT ANSWERED ]

QID : 676 - “A Better India : A Better World” is written by .

“TIRSSAT: TR TS S oRTIE@ TS |
Options:
1) Arun Jaitley 3T 0T
Sieelr
2) Aamer Hussein 31T
i



3) N. R. Narayan
Murthy

Tl . AR H
4) C. Raja Mohan 4.

Tl AlgsT

Correct Answer: N. R. Narayan Murthy Td.

3R, AR H
Candidate Answer: [ NOT ANSWERED ]

QID : 677 - Which among the following has won the Nobel Prize for Chemistry in October 2017?

AT TG H Y HFeA 3 & 2017 H THII AT &6 AV Aol X HR AT 82

Options:

1) Jacques
Dubochet ?mgaﬁ'c'

2) Joachim Frank
SITTAF

3) Richard
Henderson {d3S gs{dal
4) All options are

correct. T TH T TG

Correct Answer: All options are correct. T8

THIAEEI
Candidate Answer: [ NOT ANSWERED ]

QID : 678 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 2017?
HIA2017H, R AIG o GHIS GURD SATAT F ST TR FeT % heled H 0T TR HU §?

Options:

1) 21

2) 20

3) 23

4) 25

Correct Answer: 23

Candidate Answer: [ NOT ANSWERED ]

QID : 679 - In May 2017, with which country India has signed an agreement on Maritime Security?

A 2017 |, A o il S 6 WY T T GASAId WEATTHTE?
Options:
1) Sri Lanka
el
2) Bangladesh
7 TSR
3) Mauritius AT
RE
4) China ¥l

Correct Answer: Mauritius HT

[
Candidate Answer: [ NOT ANSWERED ]

QID : 680 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?



IRl T 2hleT AT TS 2T 6
Options:
1) Pakistan 9T
& dlel
2) Nepal si9Tel

3) Sri Lanka

«Nelshr

4) Bhutan
&I

LN

Correct Answer: Bhutan 3CTel

Candidate Answer: [ NOT ANSWERED ]

Y 379 AT Teh o Gl o o) <RI AT 82

QID : 681 - In which communication mode, data can be transmitted in both directions at same time?
Y TIR & FR H STeT T HIUT Ueh THT H &l 2T H GHT I 8?2

Options:

1) Sim
plex Toad

2) Full
duplexq;UT-:;:-\FT
q

3) Half
duplex 3787 ;o
q

4) Mul
tiplex #T AT

Correct Answer: Full duplex 90T
-::‘:-\@fﬂ'
Candidate Answer: [ NOT ANSWERED ]

QID : 682 - The computer program that converts assembly language to machine language is called
o eI 1 ag <Y T S 3 Tl TS 1 FMAY 797 7 Ui I FRATE, FEATC B |

Options:

1) Comp
lier 3 9TgelX

2) Inter
preter §eX e
3) Asse
mbler 37 TR
4) Comp
arator &1 JeT

Correct Answer: Assembler 378
Ercry
Candidate Answer: Interpreter $¢X

N\

el
QID : 683 - Which is a base metal of amalgam alloy?

3T 3T H 1 T TR &7 it ATE?

Options:

1) Al

uminium TJ
9

HATH

2) M

ercury YRT



3) Co
pper dreT

4) Zin
coldr

Correct Answer: Mercury YRT

Candidate Answer: Mercury YRT

QID : 684 - Which of the following is the structure of graphite?

AT TTT F Y Bl A SFST F TIAAT &2



) Rigid three-dimensional &

3T

2) Hexagonal
yehIui

3) like

Football Taﬁ'ﬂﬁ?ﬂ

4) No option
is correct. Eﬁé’ do g
TR

Correct Answer: Hexagonal WUTI'J

Candidate Answer: Hexagonal ‘ST?:T:IGTUTIU

QID : 685 - A wooden spoon is dipped in a cup of ice cream. Its other end will

RSN Teh THA TG H & ATel H ST IATE | SHBT EI E] I

Options:

1) become cold by the process of
conduction Tl AT & -I::-WETETETU?IT

2) become cold by the process of
convection TageT AT & «:RT S3T & ST

3) become cold by the process of
radiation & 0T T :RT 33T g ST

4) not become cold &THEE’MT

Correct Answer: not become cold 8T

g gIam

Candidate Answer: become cold by the process of conduction dTeleT AT
& <RT 3T g1 SATTIT

QID : 686 - Which acid is the most abundant acid found in grapes?

JTOTE 3 T G AT T 7 e A 37 o IRAT ATl 67

Options:

1) Oxalic
acid 3T & &1 37
o

2) Ascor
bic acid ¥ ST §h
el

3) Tartari
cacidTEIh Ao
4) Formi
¢ acid BT #7eh 37 o

Correct Answer: Tartaric acid €I
Ih AT

Candidate Answer: Tartaric acid CIC
Ih 3ol

QID : 687 - The splitting of white light into its component colours is called

T ShIRT T 3Heh 379D IUT H THTST FEATATE |
Options:



1) diffra
ction dddeT

2) refra
ction 39ddsT

3) dispe

rsion & SqOT

4) scatt

ering < UTel

Correct Answer: dispersion @

SquT

Candidate Answer: [ NOT ANSWERED ]

QID : 688 - Which of the following statements are CORRECT?

I.  Change in magnetic field produces induced current.
Il. Flow of current in a conductor produces magnetic field.
I1l. Magnetic field related to coil can be produced by motion between conductor and coil.

AT TTT H Y i T HUF T §?

I. R T & H I TG § 3 T GRTS Tl 2l

II. ST 7 a1 g URT a0 F < 3 Tl |

111.35 et & Tl &1 Foleh & <3, TTeleh TATH Sl o 7 F 31T T 97T & FHROTEI AR & |
) Only I and Il & T | TAT I

2) Only land llI

Fae I aAT

3) Only Il and

111 3 el 1| 74T 11}

4) All statements are

correct. THT FHUT TET

gl

Correct Answer: All statements are correct. THT

FUT TG

Candidate Answer: [ NOT ANSWERED ]

QID : 689 - Which gas is used as a fuel in a rocket?

R T H U & T H HloT T 3T T 3T HAT AT &2

Options:

1) Rad
on ¥&iaT

2) Hyd
rogen g1
oISt

3) Chl
orine el

4) Nitr
ogen TS <ISTeT

Correct Answer: Hydrogen g1
TSTeT
Candidate Answer: Radon 33T

QID : 690 - Which of the following is good insulator?



AT TG H Y FIY o G4 F Aleloh Die ATE?
Options:

1) Me
rcury 9RT

2) Ca
dmium &3
HIH

3) Ge
rmanium STH
IIH

4) Gla
ss T

Correct Answer: Glass &<l

Candidate Answer: Glass &<l

QID : 691 - Which is the most abundant Vitamin found in carrot?

S H A X AT <1 H BT AT G He G127 A 82

Options:

1) Vita
min AdcCT HeT A
2) Vita
min BACT H«T B
3) Vita
min CdeT He C
4) Vita
min D dCT HsT D

Correct Answer: Vitamin A dcT

HT A
Candidate Answer: Vitamin A
dcTHT A

QID : 692 - How the rate of absorption of water through roots can be increased?

TS o HT T W STeT & N7 o &% 3 A Tl 511 Tehell &2
) Keeping the plants in the shade oier

T ST H TGH

2) Keeping the plants in the dim

light TYeT =T & T2l 7 TGHT

3) Keeping the plants under the

fan 9T T 9W F 0 I@E

4) Covering the plants with a
polythene bag Tier &t T oT2fieT & gahert

Correct Answer: Keeping the plants under the fan qierapr
IE & =T TR
Candidate Answer: [ NOT ANSWERED ]

QID : 693 - A spore producing plant is .

ST 3 T Fe AT T TG S gl
Options:
1) rose

I TS
9



2) bread

mould 3FeRIT &
whE
3) potato

3TeL

~

4) ginger
3cTh
Correct Answer: bread mould SSeRIC
PR

Candidate Answer: bread mould 3¥eRIC
FEGHG

o~

QID : 694 - Which chromosome is responsible for manliness in man?

QN H G YT & ST et G707 F T HITT 3 @ 82
Options:

1) XO

2) YO

3) XX

4) Xy

Correct Answer: XY

Candidate Answer: XY

QID : 695 - The human eye forms the image of an object at its

AAGA_ RAA TR ATI TG
Options:

1) cornea i T

2) iris

EEGIEC)

3) pupil

o

4) retina

qcel

Correct Answer: retina 9cel
Candidate Answer: [ NOT ANSWERED ]

QID : 696 - Which of the following is NOT a multicellular organism?

AT T TT H Y PleT AT TH & -1 A T ST AT 67

Options:

1) Fungi
Hdh

2) Spiro
gyra ITSAATTST
3) Hydr
agrs ol

4) Para
mecium RTH
AIH

Correct Answer: Paramecium 2RT

HIIIH



Candidate Answer: Fungi chdch

QID : 697 - Which disease is caused by cadmium metal pollution?

& S HYA YT & YOI il AT EIare?

Options:
1) Min
amata HTATATAT

2) Itai-
Itai SECTS-3CTS 3)

Asthma 3T JHT
4) Dermatitis SHCIS
<q

Correct Answer: ltai-Itai 321%’—321%’

Candidate Answer: Asthma 3T
gAT

QID : 698 - Which of the following is an organic gas?

AT TTT H Y PleT WY Th o T AT E?

Options:
1) Carbon dioxide

FIe-T ST AT 2)

Carbon monoxide

FIaT HIA3T B3

3) Ethylene

dichloride T ¥eileT 8T8

EIREE

4) Nitrogen

dioxide =TS <ISieT

EESIEIEE

Correct Answer: Ethylene dichloride T
il 318 ARISS

Candidate Answer: Carbon dioxide hTelel
EESIEIEE

QID : 699 - Basel Protocol is related to which of the following?

AT CTeIhlT o F of @ H T HIH TS A &2

Options:

1) Ozone layer
3T R

2) Burning of
forests Ao hT STelell

3) Sea water
pollution aq
STef <hT §UT

4) Trans-

boundary hazardous

dumping Tk 319 /A

IETY & IATIR

YTATATOT

Correct Answer: Trans-boundary hazardous dumping TcelTeh
319 7 9ETY & WA ATATALOT



Candidate Answer: Trans-boundary hazardous dumping Wd¥ITeh
319 2T IGTY & AT ATATAOT

QID : 700 - Which of the following is parasitic food chain?

A o Tl 7 Y el RIS T 0Tl 82

Options:

1) Trees - Fruits eating birds - Lice and
bugs § > el T AT T<T > S TAF 3

2) Grass - Rabbit - Fox - Tiger &TH >
TLAM -> eASY > qTE

3) Grass - Grasshopper - Frog - Snake -
Hawk BT - T T - #gaH > A9 - arat

4) Phytoplankton - Zooplankton - Fish >

Hawk 9T6Y ofdeh -> <101 oldeh > FSeT > dTel

Correct Answer: Trees - Fruits eating birds - Lice and bugs 9->
AW AT TN > F AN FT

Candidate Answer: Grass - Grasshopper - Frog - Snake - Hawk g > T
o > Aged > AT > TT

QID : 701 - Which of the following quality of timber can be improved using Abel’s process?

T o WA H Y WIhST & el A IO T T Tl o T GURT STl &2
) Durability

TgTefrerar

2) Fire resistance

37 o TRIERRal

3) Chemical resistance

TR 7 cRIerehell

4) Strength dTehd

Correct Answer: Fire resistance 37 o
TRIETRAT

Candidate Answer: Chemical resistance I

e RIeTehdl
QID : 702 - Which of the following shows the CORRECT decreasing order of rate of hydration of Portland cement compounds?

TT TTT H Y i ATACAS BIHT T 3T & FTldTele & &< & &l Ted J I @Iarg?

Options:
1)

C,A>CAF>C,5>C,S
2)
C,A>C,AF>CS>C,S
3)

C,A>C,S>C,S>C,AF
4)
C,AF>C,S>C,A>C,S
Correct Answer:
C,A>C,AF>C,5>C,S
Candidate Answer:

C,A>C,AF>C,S>C,S

QID : 703 - The proportions of ingredients in concrete mix are given by 1:2:4. What will be the actual quantity of the sand per unit volume of cement, if it undergoes



20% of bulking?

& THOTHAIH <N AT U 1: 2: 4 % 30T H ST AT § | HIHAC o o A A ol 7 I & a1 o Feh AT ST T8, TS SHA 20% T YoieT Gl 82

Options:

1) 1.5

2) 2.4

3) 4.6

4) 6.5

Correct Answer: 2.4
Candidate Answer: 6.5

QID : 704 - What is the range of slump (mm) of the concrete which is used as the mass concrete?

TS AT & T H 197 HIT AT &, AT (7 7)) SATATE?
Options:

1)10to 15

10815

2)20to 50
20950

3)50to 75
50875

4)75to 110
759110

Correct Answer: 20 to 50
2050

Candidate Answer: [ NOT ANSWERED ]

QID : 705 - In the symbol used to represent the concrete mix, MX. M stands for mix and numeric X represents the

TAURAAUTIA G ACTTEMXAMATFACEIRTEAARX S AS T T IAT S
Options:

1) 7 days compressive strength

7 o1 & HUIS HIH T

2) 14 days compressive strength

14 &1 & HRST QA T

3) 28 days compressive strength

28 3o & HUISHA HIH A

4) 28 days tensile strength

28 e & clelel AIH YT

Correct Answer: 28 days compressive strength
28 a1 & HUISA HIH A

Candidate Answer: 28 days compressive strength

28 Gef o HUISsT A1 T
QID : 706 - According to the IS code, at what moisture content, weight of the timber is noted?

TS TH. F1S & AR, H T I, TehsT ol Tolel oA1C AT A 52
Options:

1) 0.05

2) 0.12

3) 0.23

4) 0.3

Correct Answer: 0.12

Candidate Answer: 0.12

QID : 707 - What is the recommended moisture content of timber, which is used as a structural element for windows?
THIT ST TS Y & T HAT Heh o T & T H 1T AT ST &, 3T Tel T 6 AT o7 ATE?

Options:



1) 5-10%

2) 10-16%

3) 16-26%

4) 26-36%

Correct Answer: 10-16%
Candidate Answer: 10-16%

QID : 708 - Which of the following represents the smallest size (mm) of fine aggregate (sand)?

A TG W el TN G T (X) h T BIE IThR () Y W1 8?2

Options:

1) 0.01

2) 0.063)1.5

4)2

Correct Answer: 0.06

Candidate Answer: [ NOT ANSWERED ]

QID : 709 - What is the percentage content of silica in a good quality brick earth?

S IU]F T ATl Fel 51l € Sollel H ST o SHcll §, SHE H ofehl & AT AT T IT 82

Options:

1) 20-30%

2) 30-40%

3) 40-50%

4) 50-60%

Correct Answer: 50-60%
Candidate Answer: 50-60%

QID : 710 - When timber is burnt in the wood fire over a depth of about 15 mm, the process of treatment is known as

THY & SR & IT STHH oTehal ol 37T H AT 15 FHI F IETS ook STell &7 STl & 39 FETATATE |

Options: 1)

charring

YR T

2) rueping
process $ 9IT AT

3) bethel
process ST AT

4) boucherie
process aﬁwm

Correct Answer: charring I

T
Candidate Answer: [ NOT ANSWERED ]



QID : 711 - The plasticity index and plastic limit of a soil is given by 25% and 20% respectively. What will be the liquid limit of the soil?
AHYPY (1 H) Guohioh IR g (T o) TAT A: 25% 3R 20% TF & 75 & | 7 F R AATATH?

Options:

1) 0.15

2) 0.25

3) 0.35

4) 0.45

Correct Answer: 0.45

Candidate Answer: [ NOT ANSWERED ]

QID : 712 - In the flow over length of 50 m, the head loss of 6 m occurred due to seepage. The hydraulic gradient is given by .

50 HIET o SIS H a8 H, 6 HIeI & 35 TS T JehdTel THTT & HROT 3T 875 <7 ofeh 3 TE SRTGATSTAT g |
Options:

1) 0.01

2) 0.12

3) 0.29

4) 0.32

Correct Answer: 0.12

Candidate Answer: [ NOT ANSWERED ]

QID : 713 - Which of the following expression represents the CORRECT value of coefficient of curvature?

AATTIAT RTINS FATH AV T F W AT FT A T T I 82
Options:
1)
; 2
C = (_D30)
c
Dy, x Dy,
2) & ,
C = ( 50)
[+
Dy, x Dy,
3)
2
C — (Dﬂ))
c
Dy, x Dy,
4)
C.= D3o
c
Dy, x Dy,
Correct Answer:
; 2
C s (_D30)
c
Dy, x Dy,
Candidate Answer:
.= D3o
c
Dy, x Dy,

QID : 714 - Which of the following apparatus is used to measure the liquid limit soil?

H o TR TIAT ! AT & oTT o o of @ 7 T FH 3THIOT T J1T FAT STATR?

Options:

1) Casagrande
apparatus Far 3
39hI0T

2) Pycnometer

T aatieT



3) Ring and ball
apparatus 3Rt
39RO

4) None of these
G A IS T8

Correct Answer: Casagrande apparatus Far

'3 3YHIOT
Candidate Answer: [ NOT ANSWERED ]

QID: 715 -

The compressibility of the fluid is given as 5x 107" Pa™".
What is the Bulk modulus (GPa) of fluid?

ad & GhoTar 5x107 Pa”! & &7 & & I T 2
TR e $T Yoareydr Ais (GPa) FT £2

Options:

1) 10

2) 15

3) 20

4) 25

Correct Answer: 20

Candidate Answer: [ NOT ANSWERED ]

QID : 716 - Which of the following is measured with the help of an orifice meter?

T F W HieT T 3T T B FHNeX o TETIAT A AT ST &2

Options:

1) Discharge
aIdgel

2) Discharge
coefficient HE%HETU;I'
i

3) Head of
water IToiT & 3 TTS

4) Pressure
coefficient G8Td 197
el

Correct Answer: Discharge sTdgel
Candidate Answer: [ NOT ANSWERED ]

QID : 717 - Which of the following represents the CORRECT range of coefficient of discharge of venturimeter?
T A TS A A it AT J T & FageT o ] <155 & TEY YIAT H o o & T FAT 82
Options:
1) 0.32to0 0.43
0.3280.43
2) 0.45t0 0.52
0.45¥0.52
3) 0.54t0 0.75
0.54H0.75

4) 0.96 t0 0.98



0.96 & 0.98

Correct Answer: 0.96 to 0.98
0.96 ¥ 0.98

Candidate Answer: [ NOT ANSWERED ]

QID : 718 -

A cube of dimension 2 m is floating in the water

with immeraina depth of 1 m. What is the weight

(kN) of the cube? (Consider unit wéight of water
as 10 kN/m® )

2 #Hex & I &7 g 1 Hiex ST IR TES &
Y g F R W@ 81 g4 &1 gt (kN)

T 87 (AT ATy T g=il HT 515 asiel
10 kN/M® B)

Options:
1) 10
2) 20
3) 30
4) 40

Correct Answer: 40
Candidate Answer: [ NOT ANSWERED ]

QD :719 -

The Reynold number for the flow through smooth
pipe is given by 10°. The value of friction

factor for smooth pipe is

Ri&=T 9159 & ARIH ¥ YdIg & folt Yeies aax 10° gl
el 957 F fOIT ador aRF &
HAod gl

Options:
1) 0.001
2) 0.018
3) 0.089
4) 0.125
Correct Answer: 0.018

Candidate Answer: [ NOT ANSWERED ]

QID : 720 - At a particular point in the channel, the specific energy and velocity of flow is given by 1.5 m-kg/kg and 2.5 m/s respectively. What is the depth of flow in channel at
that point?

ATl 7 Th IAY F T, T T Foll 3T A8 T AT HLM: 1.5 m-kg / kg 3 2.5 m / s RTSIT SATAT & | 3T THT WAl 7 I8 & IS ATE?
Options:

1) 05

2) 1.18

3) 2.32



4) 2.5
Correct Answer: 1.18
Candidate Answer: [ NOT ANSWERED ]

QD :721-

A circular pipe of diameter 60 cm carries a
discharge of 2 5m®/s. What is the velocity

of flow (m/s) through the pipe?

60 YT AT HT T dcaidR 95T & Hdea
25nm/s Bl UIS9 & HEIH ¥ 9dg (m / s) T
9T AT 87

Options:

1) 2.5

2) 5.67

3) 8.83

4) 12.32

Correct Answer: 8.83

Candidate Answer: [ NOT ANSWERED ]

QID : 722 - Which of the following represents the CORRECT relationship between the Chezy’s coefficient, C and coefficient of roughness of channel, f?

Options:
1)

Candidate Answer: [ NOT ANSWERED ]

QID : 723 - Which of the following is calculated with the help of Moody equation?

2 TR o TETIAT & o o # QA Hh I0TeAT ST &2

Options:

1) Discharg
e FTdgeT

2) Friction
factor &NUT hRh
3) Pressure

=EIC)



4) Velocity
of flow dlg & 9T

Correct Answer: Friction factor 90T

PR
Candidate Answer: [ NOT ANSWERED ]

QID : 724 - Which of the following is responsible for the separation of boundary layer?

AT RA & P8I & T T F A Yl T AR §?

Options:

1) Positive pressure
gradient HhRT Heh qdTd
gordar

2) High viscosity of
fluid & 3 T ITeAdT

3) Low viscosity of
fluid el 9T b A
AleTdT

4) None of these

SAA A IS 6

Correct Answer: Positive pressure gradient HhIRT

Heh qd1d dUTdTl
Candidate Answer: [ NOT ANSWERED ]

QlD : 725 -

The settling tank of surface overflow rate of
4 510~ m*/m?/s is used for design discharge of

2m*/s. What is the surface area (m?) of the settling
tank?

Hdg & HAAYA® e 4.5x 10 m¥/mf/s & dooc
TH FHT 3T 2nls TBAsa & fEEarer

& oI foham SATaT 81 doioe Cobl i Hdg &
(m?) @ &2

Options:

1) 1000

2) 2000

3) 3000

4) 4000

Correct Answer: 4000

Candidate Answer: [ NOT ANSWERED ]

QID : 726 - The rain is called as acid rain, when its pH is less than_____.

T &1 37 NI T &gl ST & ST 38 froe AFARATEI

Options:
1) 3

2) 45
3)7



4) 8.5
Correct Answer: 4.5
Candidate Answer: 4.5

QID : 727 - Using prismoidal method, what is the volume (cubic metre) of earthwork required for 10 m deep pit, if the top and bottom dimensions are 4 mx8 mand 8 mx 16 m
respectively?

AT T 3TAT AT, 103413313%3&:‘:-*meqaréwm(aﬂma)m%ua?ﬁmﬁﬁﬁﬁé;m4mxsmaaﬁtsxﬁax 16 #eX §?

Options:

1) 678.34

2) 746.67

3) 800

4) 1493.33

Correct Answer: 746.67

Candidate Answer: [ NOT ANSWERED ]

QID : 728 - For supply, lime is measured in .

FEANGIF AT, FAIT SIS |
Options:

1) bags of 50 kg

50 & T o &9T

2) cubic

metre T HeX

3) kilogr
ams el <1

4) quint
als geoT

Correct Answer: quintals deoT

Candidate Answer: quintals ged

QID : 729 - What is the estimate (Rs.) for a building with a plinth area of 2000 sq. m with rate of Rs. 3800 per sq. m? (Consider the adds of 15% of electric installation and 7% of
miscellaneous)

2000 FITHIET & TH (T 1) <3 el o oTHTT oh &IV 3800 o 9T HIEX & &I W AT =TT I 2 (TT) AT E? AT ol ST & 15% T el AToat 3R 7% T aerarg |

Options:

1) 150000

2) 450080

3) 2423000

4) 9272000

Correct Answer: 9272000

Candidate Answer: [ NOT ANSWERED ]

QID : 730 - What is the quantity (sg. m) of plastering required for the 6 m length of wall which is 4 m high and 50 cm thick?

6 HeT T &, 4 HIex 3 I 31X 50 T HeX A & IR & oV 3779 Jeh Tof o} o AT <7 (I3T FHex) AT?

Options:

1) 12

2) 24

3) 48

4) 56

Correct Answer: 48
Candidate Answer: 24



QID : 731 - The length, width and height of a wall are given as 800 cm, 500 cm and 50 ¢cm respectively. What will be the total cost (Rs.) of brickwork, if the rate of
brickwork is Rs. 320 per cubic metre?

U & AR & oas, Wi 3R 5 1S e 800 WA, 500 A AR 50 AN F U A ME R | I & T-TATS & X 320 UV o Ul #eX § N T-AS o F of o197 () AT
Options:
1) 4000
2) 6400
3) 10500
4) 12860

Correct Answer: 6400
Candidate Answer: [ NOT ANSWERED ]

QID : 732 - The plinth area rate and plinth area of a building is Rs 5500 per sg.m and 150 sq.m respectively. What is the total cost (Rs.) of building considering cost of electrification
as 7%, cost of sanitary fittings as 16%, cost of roads and lawns as 6.5% and cost of contingencies as 4.5%.

Teh SHAR &I 9 (T 7) 3 Bl & &I AR o7
el FH2T: 5500 TU o F9T HIeY X 150 F FTHCT | STHH 7% T el 1hI01 & AT, 16% 3 T T 3T o AT, 6.5% ek 3 FlT o ol 3R 4.5% 3HTeh Hefs 19Tl a6 F 3 AATOT
& AU AT (T0) ATR

Options:

1) 50000
2) 825000
3) 982860
4) 1105500

Correct Answer: 1105500
Candidate Answer: [ NOT ANSWERED ]

QID : 733 - Which of the following item is NOT a lump sum item?

AATGAA AT IIUHH I AT AT 2

Options:

1) Architectural features

IR ERERIY

2) Contingencies and unforeseen items 31Teh #eh 31 3737 QIHEF_[E“"
3) Electric installation @ 3T ATIIT

4) Plastering of wall

IR AT Il X

Correct Answer: Plastering of wall &

dR &l Yol ¥
Candidate Answer: [ NOT ANSWERED ]

QID : 734 - What is the total cost (Rs.) according to approximate estimate of hostel building with capacity of 75 beds? The altogether cost per bed is given as Rs.
20,000.

75 S5 % HlT dTel ST ST & SHI0T & 3IHT o7cl o ST (IU) I7§? o TeiaT & o AT 20,000 U ST AT |
Options:

1) 500000

2) 850000

3) 1500000

4) 5500000

Correct Answer: 1500000

Candidate Answer: [ NOT ANSWERED ]

QID : 735 - What is the volume of earthwork (cubic metre) in embankment of 10 m long and 7m wide with the side slope of 2:1?

2:1% 9 Gefll & HIY 10 HIeT el 3R 7 Hie =Y veh deaer 7 Gers (6 He) 1 3T AT g?
Options:

1) 70

2) 150

3) 280

4) 390

Correct Answer: 390



Candidate Answer: [ NOT ANSWERED ]

QID : 736 - Which of the following method is used to prepare the approximate estimate?

A TG H Y HE T BT LT AT A T Felel AR FA oh oI HT AT 82

Options:

1) Cubical
contents method ®eT GTH
T

2) Plinth area
method T8T & o €T

3) Unit base
method STS 3ER T &
4) All option are
correct ‘a%fraaﬁtraﬁrg

Correct Answer: All

option are correct THT

CERRIES

Candidate Answer: [ NOT ANSWERED ]

QID : 737 - In which of the following condition two contour lines intersect each other?

ATTGIT A Y eI II T TT H & TAT T LWV Teh TR T HIEcl g2

Options:

1) Hills
qgrar

2) Overhang
ing cliff oTCahl T
ool

3) Steep
slope W3 Tellel

4) Uniform
slope HHT Gellel

Correct Answer: Overhanging cliff ofcehl
3T <Tel
Candidate Answer: [ NOT ANSWERED ]

QID : 738 - Which of the following scale of the map is not affected due to shrinking of map?

A1 T & o o HGh & A HleT AT T % e 5o oh hRUT 3T Il 776 GIeTT 82

Options:
1) Engineer’s scale

37 HIAT T ATGH
2) Graphical scale T <:T
Hh AR
3) Representative
fraction o T 37er
4) None of these e &
IS g
Correct Answer: Graphical scale @
O Hp AR
Candidate Answer: [ NOT ANSWERED ]

QID : 739 - A surveyor measures a distance between two points on a map of representative fraction of 1:100 is 60 m. But later he found that he used wrong representative fraction
of 1:50. What is the correct distance between the two points?



TH TG H, 1: 100 F T I 3T AT TR & g & ST AR ATTATE, ST 60 FHex g1 oF
FATEHAIETAIITH I o 1:50 F A o T 3T FTITAT HATE | ST g H ST FET T ATR?
Options:
1) 30
2) 45
3) 90
4) 120
Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]

QID : 740 - Which one of the following is the CORRECT statement for a station that is affected by local attraction?

T T ET H Y P G T 20T & o0 F&Y FUT & ST o ATl THTOT § HT I &7

Options:

1) Difference between the fore bearing and back bearing is always equal to 90 Degrees.

37937 77 3R 9T T 937 T T IR GAM90 3 <Y H SRS BT &

2) Difference between the fore bearing and back bearing is always equal to 180 Degrees.

37 37 9T 31 T I 37 T9T T 37cR AT 180 5 <Y F VISR gIaT g

3) Difference between the fore bearing and back bearing is not equal to 180 Degrees.

37 37 T9T 31 9T I 37 T9T T 370X §HIAT 180 5 <Y o SIS A1 BT g

4) Difference between the fore bearing and back bearing is always equal to 360 Degrees.

37 937 T9T 31 U7 I 37 T9T T 37cR AT 360 5 <Y F RIS gIaT g

Correct Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.
37 37 T9T 31 9T I 37 T9T T 370X §HIAT 180 5 <Y o SIS A1 BT g

Candidate Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.
37 37 T9T 31 9T I 37 T9T T 370X §HIAT 180 5 <Y o SIS A1 BT g

QID : 741 - Which of the following error is most likely to occur in the plane table surveying?

T T TG A Y HleT A ¢ T oA ST T 0T H TG 3 U glel o HATGeAT 82
) Error in sighting rep
HLT
2) Error in orientation GRIT
ACAHAGT
3) Errorin leveling
HHAdATH G T
4) Error in measurement HIT
H3T
Correct Answer: Error in orientation GRIT
ACAH T
Candidate Answer: [ NOT ANSWERED ]

QID : 742 - Which of the following is the expression for the additive constant, if f is the focal length of objective and i is the stadia interval?
Ao o G H Y Hlel AT GYoTh A h oI 3 §, T £ & Brohd T 3 i ¢ 337 e 2
Options:
1) f-i
2)f/i
3)f+d
4) fxi
Correct Answer: f +d
Candidate Answer: f /i

QID : 743 - The staff reading taken on a staff held at a distance of 50 m from the instrument with the bubble central is 1.465 m. When the bubble is moved 4 divisions out of the
centre, the staff reading is 1.472 m. What will be the radius of curvature (m) of the bubble tube, if the length of one division is 2 mm?

FoIgell o & o AL
3YHTOTH 50 HeX & T IR AT ST Teh 1% U ol I1S T UST 1.465 HIe § T4 Golgell & o SgT 4 AT I ATeAic I HT SATAT ¢, T TP TSeT 1.472 HIEI ¢ olgell oF Ha
7 (FeX) AT B9, T & Teh 19T o oielS 2 FAT&?



Options:
1) 30

2) 43.7

3) 57.14

4) 66.34

Correct Answer: 57.14

Candidate Answer: [ NOT ANSWERED ]

QID : 744 - Which of the following is the CORRECT ratio of refraction correction to curvature correction?

AT TG H Y HIAAA o GUR A T ol & GUR o ol T TG Il AT 82

Options:

1) 1/4

2) 1/6

3) 1/7

4) 1/9

Correct Answer: 1/7

Candidate Answer: [ NOT ANSWERED ]

QID : 745 - Which of the following instrument is used for centering the theodolite in windy conditions?

AATTIA A RIAATIGATH T T H UASASE P & o el o AT J1T T SITAT 82

Options:
1) Cross staff

ofg erm
2) Optical plummet T AT o (F[HT)

3) Optical square &Tf=T

qdr

4) Spirit level

qIoTEd (€ ool )

Correct Answer: Optical plummet &Tefi=T
AT (AT

Candidate Answer: Spirit level 9T0THeT
(€ oaen)

QID : 746 - Which of the following test is used to make the line of sight perpendicular to the horizontal axis?

ATTTIATFAROTHAIF & GT A & ToT 37 Y ofTad et F AT TN HAT STAT 82



) Azimuth test aarer

(3T Ad) W ot

2) Cross hair ring test

T IR WAy oT

3) Spire test 3Tdd
(=) Tror

4) Vertical arc test T &
g 91y o7

Correct Answer: Azimuth test

garer (3T 7)) ol o

Candidate Answer: [ NOT ANSWERED ]

QID : 747 - Which of the following statement is TRUE for the linear reservoir?

T TG H Y HleT AT HAF YT AR & STTH T ?
Options:

1) Storage is proportional to inflow discharge.

T § 31 oITg oAage & Meqar deh & |

2) Storage is proportional to outflow discharge.

T § 9 §aTE Adge & eIl Toh & |

3) Storage is proportional to square of inflow discharge.
T 37 T dgeT & 9T o T Ah |

4) Storage is proportional to square of outflow discharge.
T § 9 §aTg oAage & a9 & M1 b & |

Correct Answer: Storage is proportional to outflow discharge. ﬁga

FaTE qEeT o T AH 8
Candidate Answer: [ NOT ANSWERED ]

QID : 748 - A 45 cm diametre well penetrates an unconfined aquifer of 30 m thick. Under the steady pumping rate for a long time, the drawdown’s at two observation wells 10 m
and 20 m from the pumping well are 5 m and 3.5 m respectively. What will be the discharge (cubic metre), if the permeability of the aquifer is given as 20 m/day?

Teh 45 AT <1 30 HICT F HANCTS & Teh 37T €T STl & T 37 S NG § A FAT § | T FAL e AT § T2 & 3 g, A 5 A1ex 3R 3.5 #ex F 2 sraeharet
T W 99T STelTacTole o & 3ideliehe & # 10 FIeX AR 20 HIeX &1 3R STo# 7 o TR AT 20 HeX / & & T HE S &, A a1 (Y #H1ex) T gram?

Options:

1) 0.052)

0.067

3) 0.08

4) 1.12

Correct Answer: 0.08

Candidate Answer: [ NOT ANSWERED ]

QID : 749 - What will be the cant deficiency (cm), if maximum safe speed on a 5 Degree curve of a broad gauge track is 110 km/h and average speed of train is 85 km/h?

T H HHAT (AN AT, R Teh o0 AT SF F 55 VTR A UFAA G TN 110 FY / €T g1l 3R O o 31y a7 85 ey / wergrefe

Options:

1)6.3

2) 10

3) 12.6

4) 18.7

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 750 - What will be the shift of transition curve, if the length of transition curve is 80 m and radius of the curve is 300 m?

YRATH g & YTell ATEHT, 3R URATHT g & oidls 80 Hiex 31X T & a1 300 Aex §?

Options:
1) 0.011 2)
0.78

3) 0.89

4) 21.33



Correct Answer: 0.89
Candidate Answer: [ NOT ANSWERED ]

QID : 751 - Design of a riveted joint, is based on the assumption
w@es
S1V3 T ST, EIROT R 3MEN I &
) Load is uniformly distributed among all the rivets EIE
TN TheH F T TAT T A I I HATIATE

2) Shear stress on a rivet is uniformly distributed over its gross area
TAT TR a1l T doA1d 3791 Tohel & T FATA T H I I AT ST &

3) Bearing stress is uniform between the contact surfaces of the
plate and the rivet WUTW@E%WWWE#W?@HW
AT §

4) All option are correct g IR T e §

Correct Answer: All option are correct Tt

THEITNE
Candidate Answer: [ NOT ANSWERED ]

QID : 752 - Effective length of a column effectively held in position and restrained in directions at both ends is

A STV U T 7 IW 1T 3T &7 BIR I 760 7 T 7T Teh Hlold & HTET oidTS &

Options:
1)L

2) 0.67L

3) 0.85L

4) 15L

Correct Answer: 0.67 L

Candidate Answer: 0.85 L

QID : 753 - The slenderness ratio of a column is zero when its length

T T T o 1 3Tl L T Il 8, ST SH olals
Options:
1) is zero Q];'J%’
2) is equal to its radius of gyration IR
3T AT S &

3) is supported on all sides throughout its length
ol TR N SIS FAA AL
4) None of these

GoTH A IS T8

Correct Answer: is supported on all sides throughout its length T$fr
AE 3T S ATA I §

Candidate Answer: [ NOT ANSWERED ]

QID : 754 - Outstanding length of a compression member consisting of a channel is measured as
F AT A AR Teh GRS TS T & ThIAT TS 1 5 g I ATAT ST &
Options:
1) half of the nominal width HmﬂT?ﬂg'I%
T 3T8T
2) nominal width of the section 3{sJ3T9T &

AT A



3) from the edge to the first row of rivets
FoIR ¥ TqCH F Ugell T & o0
4) None of these
AP
Correct Answer: nominal width of the section 3TeT3TdT

F ATHAT ASTS

Candidate Answer: [ NOT ANSWERED ]

QID : 755 - The equivalent axial load may be defined as the load which produces a stress equal to

TSR 37 <N $TR T 1S & T H I IHT I HAT ST TRl & ST 3 3T SRS 1T Y SeT Hzar g
Options:
1) maximum stress

produced by the eccentric load def
UTHR RT3 9 3 YehdH dolld

2) maximum stressed
fiber 3 YohdH BISs T
SR e

3) bending stress
glohel W ESTd

4) None of these W'@f

P e

Correct Answer: maximum stress produced by the eccentric load def UT
HR RT3 9 3 YohdH deIld

Candidate Answer: [ NOT ANSWERED ]

QID : 756 - For the economical design of a combined footing to support two equal column loads the projections of beams in lower tier are kept such that bending
moment under column is equal to

Y SRR A 1S T FHYA et & olT HY =II0T 3 3T Yok SoT1SeT & oIV aTelel o H 1 T AT STNTAT SATAT 8, AT o ci3T o 1<) STt T UT SHeh ST 2|
Options:
1) bending moment at the center of the beam SAFHH
glehel I 0T
2) half the bending moment at the center of the beam fNTH
o H 3TTEIT SJehe T 0T
3) twice the bending moment at the center of the beam &1&T
& o H &l IR gehel T 0T

4) None of these
AP

Correct Answer: bending moment at the center of the beam ST *H

& H gt T O

Candidate Answer: [ NOT ANSWERED ]

QID : 757 - A beam is defined as a structural member subjected to

T T T A Te, T & T F T THT Y HIT ST 8, 9AT T§

Options:

1) axial loading
AT AT

2) axial and

transverse loading 3T

¥ 3R 37
I G
3) transverse

loading 3{s] ¥ eeTsT



4) None of
these 378 A IS Tg

Correct Answer: transverse loading 3-17:;
Y elcled
Candidate Answer: None of these 3?{9#

LEIEE

QID : 758 - The gross section of the web of a beam is defined as

19 5 AT & Tohol WS Y 3T g T T YT HATIATE

Options:
1) depth of the beam multiplied by its web thickness

1 % NS 3 A HAIETs W AV] T FA §

2) width of the flange multiplied by its web thickness WTHTWE?MWNM@'WC?TW?
3) sum of the flange width and depth of the beam multiplied by the web thickness

AT 37 <eTE 3N N o TGS KT AT AT A HeTS 310 of

4) None of these TR A RS g

Correct Answer: depth of the beam multiplied by its web thickness

I & TGS S AT AICTS Y AT T FAT §

Candidate Answer: [ NOT ANSWERED ]

QID : 759 - The effective length L of a simply supported beam with ends restrained against torsion, and also the ends of compression flange partially restrained against lateral
bending is given by

T §H Al A F A 1S L, STEH FoAR FUZ & T AN T §, 3R U1 SJehTa 6 GeATth 37 20k I @ T Gl & ol 38 RISV AT

Options:
1) L=span
L=3a9

2) L=0.85 span
L=0.8539Y

3) L=0.75 span
L=0.753dY

4) L= 0.7 span
L=0.73aY

Correct Answer: L= 0.85 span
L=0.8539Y

Candidate Answer: L= 0.85 span
L=0.8530Y

QID : 760 - The connection of one beam to another beam by means of an angle at the bottom and an angle at the top, is known as

=Y T 10T 31T 2N 9T ek 10T H T N & T NI FTohed 2T, SH T H AT AT &



Options:

1) unstiffened seated
connection STET 2R e 2T
2) stiffened seated
connection {ep 3T 3T R et
AT

3) seated connection
2 et AT

4) None of these S8

LEIEE

Correct Answer: seated connection qX

Fal AT
Candidate Answer: [ NOT ANSWERED ]

QID : 761 - Separation of water or water sand cement from a freshly mixed concrete is known

dSTH e A YTt AT ITAT & I HNHE T 376191 et il S AT H SITAT ST &
Options: 1)

bleeding i

Xl

2) cre

eping 9T

3) se

gregation

eea

4) flo

oding o SdT

Correct Answer: bleeding Ell
Xl

Candidate Answer: bleeding o
Ll

QID : 762 - For road pavements, the cement generally used is

5 % T TUTY & T, AR TR 3T giet arell A gl &

Options:
1) ordinary Portland cement

ATURT Gieals JiFAe
2) rapid hardening cement BEIE:
gl arelr dieAT

3) low heat cement

ETIGIREIE
4) blast furnace slag cement elT €
T ol WA
Correct Answer: rapid hardening cement BEik:]
Fd g arelr HiFAe
Candidate Answer: ordinary Portland cement HTYRUT
qieds @ide

QID : 763 - Hydration of cement is due to chemical action of water with

HHAC FTETS 22U, SHY TTeiT v I o7eh AT & FROTEIAT &

Options:
1) Tricalcium silicate and dicalcium silicate

“T5%h QTH T ofoh € IR SBH T TTH €



2) Dicalcium silicate and tricalcium aluminate m?mﬁﬂﬂ?fﬁi}%& AT Y
Aol

3) Tricalcium aluminate and tricalcium alumino ferrite

©Tgeh QIA U Y Ale 3R o158 e 37 7l b Use

4) All option are correct FSﬂ'a?FWP?I'B'

Correct Answer: All option are correct Tt

THIHEE

Candidate Answer: Tricalcium aluminate and tricalcium alumino ferrite
TS A U Y FAAC 3R <15 AIH 37 Hell B 8T

QID : 764 - Internal friction between the ingredients of concrete, is decreased by using

& T 1A <X o &1 317 I TYUT, ST T SYTTT e el T ST Tehcl §

Options: 1)

less water

A TeT

2) fine

aggregates a‘lﬂ?ﬁﬂﬁ

e

3) rich mix a7
HIT

4) more water

and coarse aggregates 31

e Tt AR Aer w1

Bp)

Correct Answer: more water and coarse aggregates 31 &b
arelt AR Her gy =g

Candidate Answer: more water and coarse aggregates 31 &h

aTelt AR Her g T

QID : 765 - In a slump test, each layer of concrete is compacted by a steel rod 60 cm long and of 16 mm diameter for
AT UTH, & T Ik W 1 60 cm T &Y 31 16 mm <TH F T T US RIS o7 T & T HAT AT &

Options:
1) 20 times

209X

2) 25 times
259

3) 30 times
309X

4) 40 times
40 times
Correct Answer: 25 times

258

Candidate Answer: [ NOT ANSWERED ]

QID : 766 - To prevent segregation, the maximum height of placing concrete is

379 I Aol & oIT, & TIWA F I UFTH S TS &

Options:
1) 100 cm

2) 125cm
3) 150 cm

4) 200 cm



Correct Answer: 100 cm
Candidate Answer: [ NOT ANSWERED ]

QID : 767 - The shuttering of a hall measuring 4 m x 5 m, can be removed after

4'm x5 m 3T AT aTel &l 3T AT T3T, Y Sk 1 7 STAT oI FehdT &

Options:
1) 5 days

5@

2) 7 days
78

3) 10 days
10 e

4) 14 days
14 ¢aT

Correct Answer: 7 days
7Cel

Candidate Answer: 14 days
14 ¢t

QID : 768 - For compacting plain concrete road surface of thickness less than 20 cm, we use

20 T A FHAANCTS T THTT O TZ i Gehol o oIT, §H STANT A §

Options:

1) internal
vibrator 31d I a1
2) screed
vibrator 3T X

3) form
vibrator BIH dIs

4) None of
these SoTH & IS =15

Correct Answer: screed vibrator §

as T
Candidate Answer: [ NOT ANSWERED ]

QID : 769 - Pick up the correct statement from the following

o o & FEI U & TgdTe]
Options:
1) Construction joints in columns are provided a few cm below the

junction of beam dH H AATUT SIS A AT F ?Hﬁfﬁcm I ETeT T ST
J

2) Construction joints in columns are provided at the bottom haunching
FITH H THIUT SIS Y RN 81 o T H STl T ST &

3) Construction joint in beams and slabs are provided within middle third
1 3R ST T AAOT SAEC A T IR & SR ST FIAT ATAT

4) All option are correct mfraa:craﬁrg

Correct Answer: All option are correct THT

THITEE
Candidate Answer: [ NOT ANSWERED ]



QID : 770 - An excess of flaky particles in concrete aggregates

B T T H 3T T TG 0T T gl

Options:

1) decreases the workability
Fraefierar g ST ¥

2) increases the quantity of
water and sand 91T 3R YT FH AT bl =3
S g

3) affects the durability of

concrete & € & AT g &I 7T ad AT

3

4) All option are correct Tl
JHITEE

Correct Answer: All option are correct THT

CERR NS
Candidate Answer: All option are correct s
THITLE

QID : 771 - For the construction of cement concrete dams, the maximum permissible size of the aggregates is
WHCH T & FHIIT & ol T, §H =Y T 3 UehclH hrd HTHR &

Options:
1) 40 mm

2) 50 mm

3) 60 mm

4) 70 mm

Correct Answer: 40 mm

Candidate Answer: [ NOT ANSWERED ]

QID : 772 - For given workability the grade requiring the least amount of water is one that gives

T FHTI FAT & T I 3 S HH W A Ulell & 31T T gl I8 T 8, A AT
Options:
1) greatest surface area for the given cement and aggregates U
IV HIAE 3R T T & o0 e T3 Helg o
2) least surface area for the given cement and aggregates U 31T
HieTe 3R T T & AT FH T FH TG
3) least weight for the given cement and aggregates U 3T HIHAC

3R & T & T A ol
4) None of these

EECREIED

Correct Answer: greatest surface area for the given cement and aggregates U 3T
Hire 3R T 77 F AT TEY T FAE O

Candidate Answer: [ NOT ANSWERED ]

QID : 773 - The type of aggregates of same nominal size, which contains less voids when compacted are
FHAT ATHHAT TR & TH T FH H, STHHA H 9 € gl W HA TATT g1 §

Options:
1) round
ed spherical

aMelTh



2) irregu

lar 7T AT

3) flaky
YIda 4) None
of these s?ﬁﬁ b}
IS T8

Correct Answer:
rounded
spherical

el g

Candidate Answer: flaky 9¥dcX

QID : 774 - For quality control of Portland cement the test essentially done is

WIEeTs WHC & 0] T T 7 U1 oh ofT 3 a1 T @ AT IRATRY 0T
Options:

1) setting

time TAY AT FHLAT

2) soundne
ss edl

3) tensile
strength & IJdT
dlehd

4) All
option are correct

T TH I E
Correct Answer: All option are correct T
CERR NS

Candidate Answer: soundness dl

QID : 775 - Pick up the correct statement from the following

T T T TG HUT & UgTeT I

Options:

1) The percentage of voids in the aggregate after proper compaction is called the angularity number Hﬂ'ﬂ?—l’
HeAT & T1G Hehol 7 Y UTeT T IR 3Tehels] § AT &gl ol &

2) Angular aggregate are superior to rounded aggregate

IO F o 30T T Ak B IgHR &

3) The surface texture depends upon the hardness, grain size, free structure and the structure of the rock dg
FATIE FHORCT, 3Tl T, 7 FIEAT 3 T I T T O AN AT §

4) All option are correct GEICER RIS

Correct Answer: All option are correct THT

THITE
Candidate Answer: [ NOT ANSWERED ]

QID : 776 - No shrinkage occurs if the concrete is placed in a relative humidity of

HS TRTA A EIATS, T h € HI A 3T T (3 3€) AI@T AT &

Options:

1)1

2) 0.85

3) 0.7

4) 0.5

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]



QID : 777 - Argillaceous materials are those:

IR ST T A <Y T g &

Options:

1) which have alumina as the main
constituent Sil 7 T &€ oh T H U #ell &

2) which have lime as the main
constituent EﬁﬂqﬂﬁaﬁqﬂﬂﬁT%

3) which evolve heat on the addition of
waterEﬂ'm?ﬁ'agg'lFl?TW?ﬂTéﬂT%

4) which easily break when hammered
lightly ST geTeh & F2IST Talel I 8 TR d 2T
ST

Correct Answer: which have alumina as the main constituent Gﬂ'ﬁ'

TOHFITATLHAA G
Candidate Answer: [ NOT ANSWERED ]

QID : 778 - Spot the odd statement:

SAH T AT HYU & Tgdled



) rounded aggregate Eic
qHTq
2) irregular or partly rounded aggregate
375 A AT 3T 76 T F 3l qOT
3) angular flaky aggregate WWTH
4) single-size aggregate
Correct Answer: single-size aggregate Uehel-31TehIX
H’Ji'?RT
Candidate Answer: [ NOT ANSWERED ]

QID : 779 - If d and n are the effective depth and depth of the neutral axis respectively of a singly reinforced beam, the lever arm of the beam, is
TEd 3NN TF TN T AT A F A AT T H F TS AN IS g, AT TAF AR TE 8
Options:
1) d
2)n
3) d+n/3
4) d-n/3

Correct Answer: d- n/3

Candidate Answer: d- n/3

QID : 780 - Pick up the incorrect statement from the following. The intensity of horizontal shear stress at the elemental part of a beam section, is directly proportional to

o o el W 3TeTc] I GETU S TS o HeT 31T 3 & T et Tl o it ol VNS S8 3T I 61l &

Options: 1)
shear force

I ATehet

2) area of the section

3) distance of the C.G. of the area from its neutral axis
GHRUIFICTHY

4) moment of the beam section about its neutral axis

G TIC Y 37 oh S H S1H TT$119T & o7

Correct Answer: moment of the beam section about its neutral axis 3 dc
o 37 X H S1H 3TT$19T 1 O

Candidate Answer: [ NOT ANSWERED ]

QID : 781 - If the average bending stress is 6 kg/t:m2 for M 150 grade concrete, the length of embedment of a bar of diameter d according to I.S. 456 specifications is
T g 3 T I el M 150 95 & THT6 kg/cm? B, AT 1S 456 T 2 AT % ITHN <18 d & Ueh IR & 3T & oldls §

Options:
1) 28d

2) 38d
3) 48d
4) 58d
Correct Answer: 58 d

Candidate Answer: 38 d



QID : 782 - A singly reinforced concrete beam of 25 cm width and 70 cm effective depth is provided with 18.75 cm? steel. If the modular ratio (m) is 15, the depth of the neutral

axis, is

THTHFATATSH T e ofdeh 25 THT & T1s1s 3R 70 FE FIeT A1 I16US F1 18,75 cm? TAF A SHA FAT AT TG AT o 3Tl (m) 15 §, N AC A A F IS
Options:
1) 20cm

2) 25cm

3)30cm

4) 35cm

Correct Answer: 30 cm

Candidate Answer: [ NOT ANSWERED ]

QID : 783 - If the neutral axis of a T-beam is below the slab, the relationship between the flange width B, depth of neutral axis n, thickness of the slab ds, effective

depth of the beam d, gross area of tensile steel At and the modular ratio m may be stated as
I NAFIC TN ITHATE, AT NS B, AT TN F IS n, o
& HETS ds, AN F A IGUS d, T AATS Il A FHT Hebel & IRAT o & ey HL AT m Y HgT ST Fhell ©
Options:
1) Bds (n-d s/2)=mAt(d+n)

2) Bds (n + ds/2)=mAt(d - n)
3) Bds (n - ds/2)=mAt(d - n)
4) None of these

SAH A FIE 8
Correct Answer: Bds (n - ds/2)=mAt(d - n)
Candidate Answer: [ NOT ANSWERED ]

QID : 784 - In a simply supported slab, alternate bars are curtailed at

HEN ST T AT H, 3 Toh HeIG 1 58 T T T AT ST &
Options:

1) 1/4%™" of the span 31
TH1/4
2) 1/5% of the span 319

THF LS

3) 1/6% of the span 319

TH1/6

4) 1/7%" of the span

Y T 1/7-ar

Correct Answer: 1/7th of the span c
T 1/7-ar

Candidate Answer: 1/7th of the span c
T 1/7-ar

QID : 785 - In a slab, the pitch of the main reinforcement should not exceed its effective depth

A, 7 A Y T 0T & T 30T I TGS W 37 4 7 g1l a1 50

Options: 1)
three times

GIGH TIF; Bl



2) four times
?IIT?]?-J[ o
3) five times
g 7] T
2

4) two times
E.’T?TF_’[ o
Correct Answer: three times cfel
9TeT T

2
Candidate Answer: [ NOT ANSWERED ]

QID : 786 - In a combined footing if shear stress exceeds 5 kg/cm2 , the nominal stirrups provided are

HAEA TG 5 kg/em? AH U EAR TG P I H, &le & STl ATl AHAT T
Options:

1) 6 legged

6

2) 8 legged

s

3) 10 legged

108

4) 12 legged
2R

Correct Answer: 12 legged

2%

Candidate Answer: 12 legged
2R

QID : 787 - To ensure that the hogging bending moment at two points of suspension of a pile of length L equals the sagging moment at its center, the distance of the points of
suspension from either end is

TEHA T EHGT & oAU T AdTS L3 O & wAelae] & AT F T 61 3197 1ot 301 OT, 3Heh o 7 4 19T Ol & SR g1l &, A il s T Aot S A H A §
)0.107 L

2) 0.207 L

3) 0.307 L

4) 0.407 L

Correct Answer: 0.207 L

Candidate Answer: [ NOT ANSWERED ]

QID : 788 - To have pressure wholly compressive under the base of a retaining wall if width b, the resultant of the weight of the wall and the pressure exerted by the retained, earth
should have eccentricity not more than

T G IR TAI0 T & 3TN R T g ¥ Ga1d STelet & AT I & A15TS b, & AR & Jofel & 9 {07 a9 3R T ToRTGama ST oy, AT { N & TH A SHA 37 U 716 glell a1 60

Options:
1) b/3

2) b/4
3) b/5
4) b/6
Correct Answer: b/6

Candidate Answer: b/6



QID : 789 - The ratio of the length and diameter of a simply supported uniform circular beam which experiences maximum bending stress equal to tensile stress due to same load
at its mid span is

T el 9¢ T I 1 & olaS 3 I &1 37T, S 7 3 379 & 7 38 A1 & ST T T fofTa o SIS 37 Uhctdl Sehel Iol1dl T (o137 el &

Options:
1) 1/8

2) 1/4
3) 1/2
4) 1/3
Correct Answer: 1/2

Candidate Answer: [ NOT ANSWERED ]

QID : 790 - The ratio of the deflections of the free end of a cantilever due to an isolated load at 1/3rd and 2/3rd of the span is

1/3rd 3R 2 / 3rd o 31 & G 3R o HROT 33he 3 3 el & T HY0T T 3Tl

Options:
1) 1/7

2) 2/7
3) 3/7
a) 2/s
Correct Answer: 2/7

Candidate Answer: [ NOT ANSWERED ]

QID : 791 - A compound bar consists of two bars of equal length. Steel bar cross-section is 3500 mm? and that of brass bar is 3000 mm?. These are subjected to a

compressive load 100,000 N. If Eb=0.2 MN/mm2 and Eb=0.1 MN/mmz, the stresses developed are

Teh It 97k IR H AT SfaTS & & TR 8Nl § | € o IR <I9-3 AT 3500 mm? & 3T 2T TR 3000 mm? &1 3 Teh Hep Tl R 100,000 N 3 3TN E1 T G Ep = 0.2 MN / mm? 3R By =
0.1 MN / mm?, &t e Td g1s¥ aTell deT1d & Options:

2 55=20 N/mm?
1) ob=10 N/mm

2) 6b=8 N/mm?, gs=16 N/mm?
3) ob=6 N/mm?, 0s=12 N/mm?

4) ob=5 N/mm?2, 6s=10 N/mm?
Correct Answer: ob=10 N/mm?Z, s=20 N/mm?
Candidate Answer: [ NOT ANSWERED ]

QID : 792 - The radius of gyration of rectangular section (depth D, width B) from a centroidal axis parallel to the width is

IR T3 (TGS D, ASTS B) F ASS A Th F ST T AR YT T AT §



)D/2
2) D/V3
3) D/(2v3)
4) D/(4v3)
Correct Answer: D/(2v3)
Candidate Answer: [ NOT ANSWERED ]
QlD :793 -

For determining the force in AB of the truss shown
in the figure below by method of sections, the
section is made to pass through AB,AD and
EDand the moments are taken about

AT @1 fafdl gR1 i fag RAf # R e &
AB, H ga &1 RuRuT 3 & fam, 4B, AD 3R

ED A Ui fpar wian € iR i v i e ag §

Options:

1) joi
ntC SFISE C
2) joi
nt B S1Sc B
3) joi
nt D ST D
4) joi
ntASSE A

Correct Answer: joint D Sﬁg‘c’

D
Candidate Answer: [ NOT ANSWERED ]

QlD:794 -



The force in CD of the truss shown in the figure

i fean e Sem oD A B H A pHuIga §

3t

A 30°

A ¢

) 3t compression
3t EdseT
2) 3t tension
3t delrd

>

3) zero [T

4) 1.5t compression
1.5t §fIseT

Correct Answer: zero

T
Candidate Answer: [ NOT ANSWERED ]

QID : 795 - A shaft rotating N.R.M. under a torque T, transmits a power of

AMTEHTANRMI UHEHTH TG, TH A FATIT IATS

Options:
1) TnN/30 Newton meters/sec

TniN/30 Eeol #Hex /sec

2) TiiN/30 Newton meters/min
TriN/30 & FIEX /min

3) TnN/60 Newton meters/min
TriN/60 &t HIET /min

4) TnN/60 Newton meters/sec

TniN/60 Eeol #Hex /sec

Correct Answer: TrtN/30 Newton meters/sec
TriN/30 Z&oT FIEX /sec

Candidate Answer: [ NOT ANSWERED ]

QID : 796 - The greatest load which a spring can carry without getting permanently distorted is called

G ST ST S AR T @ e A Bt oh &l 3T R o ST Hebell 8, 38 gl Sl &
Options:

1) stiffness AT

2) proof resilience

LEGKCEICIE)

3) proof stress

h delld

4) proof load



3 AR

Correct Answer: proof load

o AR

Candidate Answer: [ NOT ANSWERED ]

QID : 797 - In case of a simply supported | — section beam of span L and loaded with a central load W, the length of elasto-plastic zone of the plastic hinge is
A L T TH AT |-3737T9T 17 & AT H AR T NS W o AT oIS HIT ST ], T Th g7 o 3ol Sl-olT &b © T oS &
Options:
1) L/2
2)L/3
3) L/4
a) /5

Correct Answer: L/5

Candidate Answer: L/2

QID : 798 - The horizontal thrust on the ends of a two-hinged semicircular arch of radius R carrying

R o STTe dTel &1-gT dTel WHEE o 37Te 3 BR W 2 oToT Ig o S &

Options:
1) a uniformly distributed load w per unit run over its right half span is (2/3)* (wR/m
) Ueh AT T & g Td 9 o SIS TelTed T ST ga1T 3TET ITT § (2/3) * (WR / 1)

2) a uniformly distributed load w per unit run over its entire span is (4/3)* (wR/n ) Teh
HHATT I8 Tl I AR o SH1S Tellal HT R AT & w (4/3) * (WR /m)

3) a distributed load varying from zero at the left end to w per unit horizontal run at the right
end, is (2/3)* (WR/m )

T 3R A LT A TF I el AR 3AT-37619T 2 TS Tl T LA & aal §, (2/3) * (WR /)
4) All option are correct mﬁ?ﬁcm%’ra
Correct Answer: All option are correct THT

THITEE
Candidate Answer: [ NOT ANSWERED ]

QID : 799 - If a three-hinged parabolic arch, (span |, rise h) is carrying a uniformly distributed load w/unit length over the entire span,
TETAAEAY ARET o1 3T, (37 1, F6T h) U T IR T FAT T 8 T I AR w / I 7 oaTs aidr g o,
Options:
%)/8h
1) horizontal thrust is (wl
2 AT (w?) /8§
2) Shear Force will be zero throughout QWW?WQ?WQLHETW 3) Bending Moment will
be zero throughout WWWHQLUETW
4) All option are correct T I
THE
Correct Answer: All option are correct THT

THITLE
Candidate Answer: [ NOT ANSWERED ]

QID : 800 - The equivalent length of a column of length L having both the end fixed is

L SIaTS o Teh Shi ol & SRTSR of 1S STHh AleT &1 37 2R g

Options:
1) 2L



2)L

3) L/2

a) L2

Correct Answer: L/2

Candidate Answer: 2L



